_gunau“nj\&n Ui Hﬁ
Quan“\.“;& MaSeds -

3 COrWEW u'\\"S o

() Ferad by mass Yo (1)
& M°"f"5 ) H e M

é) MO‘O!lﬁ ’ -n%-! of TN

D) % b megy = Mass of solufe

mess of sol? |

. 8.5q Call,(s)+ 782, HO(4)
3 J

ﬁ[ﬁ 1
Mix
So/4
0/ - 3'5% .
" = : o < -
o by wess , 85 +78-2 < = 187(%)
sol* = solul +solimd J

Q. How mary wdl c( H; 504 1

8S0y of [3117.#%\ aguion, si2 ?
&

37' 9 HaS0w o
lDOg Sokuhan .

3%f, oo 5f
3711s HeSos [ mol K, S0y

oo's?:) sel? 13::; H,50u
20320 mel HaSoy
2 MOlqliﬁ . (Moler cave)

= #'Mo, So[u'h’
#L Of' sof2

oN: O 2Nmel HC @« O0-T72L sol®

Mo'ol cone °+ Her = CHC{] 22;.:.: Hu

Ssf.
86 '06 so('.‘ v

B




= [Ha)< o-'-rs%'nq
= 043 M HU

= o fohe) 043 el Hu

|'-—— o.\ZOMl
& Vi
ex ! 2.20mL & 0.120M sofn e hiys

m‘\\p{ an M“tﬂom SULrtm .

&‘Nln o‘h.gm s('h'&w

LS ol
#Hrwol
E-zo/fl L |O-120ml | ';3'78'4-1‘0-“'

onb/cl 3 |

3. Mou{{vj KYs wmolal cone

= #T\uo' SO& unih _m_gf_ m
13 of sohwed ‘
?O(w/u\ M / M
3 soldk o #hmd solfr ' FHwel ok
"‘"'";"5"'" L soll o+ .
g s e o P '3 Solved~
&) —
Tridyedd | T-depodt | Tiodguudsd
-1M sel2,s
will chavgn ;{; K
L T-d\o\*.’

eme—

o Sohdle.
' 1503 H&o + 2_53 N‘a .

O. Wk 2(4)  + moled coue ?

ACARE LR




Mela] equc = Hmol Nagg <=7 ,

=k #H, sj’
< 5 °
o-qs'kj_

?%Nuﬂ/ [mel Nalt _ O+ 427789, i
la":] Nell - “Ne

reu‘rJJ,--l_
:o.q.z_a vl )J.qJ y

Mc‘oj e = o.q,?:a,“(

OHS‘%

— W
Conneh: —
wve. Sb.

() 2%, ol

moled cone

2 045,

Masses VJ‘N :

o conert 5424 NaH(g(a)
of & d =%/ o molal camc

Mo P

wed L

/




